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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
T.B.C. : B-AQN-O-KYB Test Booklet Series

Serial

TEST BOOKLET

GENERAL STUDIES
PAPER - 1I

Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the

appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4,  This Test Booklet contains 80 items {questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case, you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response tfor each item.

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  Allitems carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to varijeus items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

B.  After you have completed filling in all your responses on the Answer Sheet and the examination has
conciuded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.

1) There are four alternatives for the answer to every question. For each question which has a penalty for
which a wrong answer has been given by the candidate, one-third of the marks assigned to that question
will be deducted as penalty.

i1} If a candidate gives more than one answer, it will be treated as a wrong answer cven if one of the given
answers happens to be correct and there will be same penalty as above to that question, if it has a penalty.

(i1} 1f a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

B-AQN-O-KYB (1-A)
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Directions for the following 8 (eight) items : waste streams and preserve farmland. Poor

Read the following six passages and answer the | countries, they say, can improve crop storage
items that follow. Your answers to these items | and packaging and rich nations could cut back

should be based on the passages only. on resource-intensive foods like meat.
Passage - 1 ) ‘
2.  Which one of the following statements best
Human history abounds in claims and ~ sums up the above passage 7
theories confining the right of governing to a few {a)  The population of the world is growing

select citizens. Exclusion of the many is justified very fast.

on the ground that human beings may be (b) Food security is a perennial problem

righttully segregated for the good of society and only in developing countries.

viability of the political process. {e)  The world does not have enough
resources to meet the impending food
1. Which one of the following statements is least scarcity.
essential as a part of the argument in the (d)  Food security is increasingly a collective
above passage ? challenge.

{a) Man seeks control over external things

affecting him. Passage - 3

{b) In society, there are ‘super’ and ‘sub’
human beings Many people in India feel that if we cut our

. . . ", defence expenditure on weapon-building, we can
(e) Exceptions to  universal citizen

participation are conducive to systemic
efficacy. subsequently reducing the conflict or creating a

create a climate of peace with our neighbours,

. .. . no-war situation. People wh oclaim such
(d) Governing implies recognition of war situation pie Wwhoe prociaim

disparities in individual capacities ideas are either the victims of war or the

propagators of false argument.

Passage - 2 3. With reference to the above passage,

By 2050, the Earth’s population will likely which of the following is the mest valid

. - assumption ?
have swelled from seven to nine billion people. o
(a) Building of weapons systems by us has

To fill all those stomachs — while accounting for instigated our neighbours to wage wars

shifting consumption patterns, climate change, against us.

and ‘a finite amount of arable land and potable {b) The greater spending on

water -— some experts say food production will ' wea;_no.n-bmldmg by us wou_ld les§en the
possibility of armed conflict with our

have to double. How can we make the numbers neighbours.

add up ? Experts say higher yielding crop (¢} It is necessary to have state of the art

varieties and more efficient farming methods weapons systems for national security.

will be crucial. So will waste reduction. Experts (d) Many people in India believe that we

are  wasting our resources on

urge cities to reclaim nutrients and water from .
weapon-building,

B-AQN-O-KYB (2-A)
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fraferea 8 (3113) wearen & forg e :
Fofafas og whedsl s e 3 37 9 o
FIe Yy & I ST | 5T e & AT I
Fac7 57 FR=ee W & smaifia &7 wifeT |

ufeds - 1

wra sfogra T8 gEl ofR fagrl 3w aE
2, S WEE w0 w1 AfUeR %ew F9 gHa
ArTien! a6 Hifi W | oHfeRTw @l @ gEd
TIfiS o ST 39 STYR W I SEtEn T R
f TR &, AU A qE IR geifas Sl
# g + o, Wmmﬁgw%m
W w2 |

1. frafafisa wudl 4 @ s o, 3T TReog
T gfes (amfie) & wH oW ® w A EAF
HTTVIF B 7
(a) WHE, 30 Tl A ATl STE SRgel W
201 I 1 T R

(o) waw #, ‘efimee  (guepE) SR
SN (FEEE) B 8 |

() GawHH TElE wefiEgd ¥ orvarg, § @
H wmar % e wBEw |

(d) WA we B 98 el Bfgg @
AT SR W gHareh W
FHATATE B 3 |

uftedy - 2

T4 2050 7, e W SRS HWIfad F9H -
o orE (fafdqa) @ sg s A ane g gt gl )
37 g5 U2 WA % I — 399 % ween g
whredl, Sy gfEey, o Fiam qft a3
9 F D T N = § @ W — T
fadreet 1w R B @@ IemEA g owen
U3 | BN 38 FRH WeR Jueey W TR § 7
fadoy w5d & B Mapa i 3ow R Tl
waen R a1 FY F smanEa Ifus TS
% ot €7 | S8 veR TEEEl H H-R-HH

B-AQN-O-KYB

2.

3.

=y 9 T oft P g | foRie T 2wE B
f5 TR # oot SewwEl (G i) ¥
qres-aeel 3R F I G W e Fm, e i
wftr &1 wge | S wEe § e felm o o
FEE WERUl Ud Yk § gumR w uEd 8 N
g T W S mEEaE (feiderie)
@l o w T HRd 8
fafafaa i § O -8 U, 39 Tiwss
1 qaioR TR &9 T&a F1 8 ?
(a) Torgs it ST 957 o0 ¥ WE W R |
(b) T T haw Gt 3= §
Faemdt woen 2 |
(c) @ F gl AT W W FH F Ay
forvg % o gy gumeH 6 2 |
(d) T A T @AY §ed g aiEs
AT B
ufeng - 3
WRe # ars | R fem R oAl
FreA-FmTor W 379 @ 99 R wU R L, a9 &
U qSifeEl & Y W S ATEER §9 Hahd §,
Rl s Fad wA g el I3 e
a¥ft | S @ 38 YR % fauw 9t #w@ E, 3
o1 A gg difea ¥ v fye o S Al § |

:ﬂﬂ?ﬁvﬂ%@ﬁ%éﬂﬁ,ﬁmﬁiﬁaﬂﬁﬁ

- T d gEFaRon (HTEIH)

22

(a) TER YEE-yunferdl & frior @ wum e
TR foreg @ & g snfam gu g

b 7 ve-faotn w fSan st = %,
TR sSRE % Gy gve §ey W
e I & 3 R

() T gia % fore 7 amaww # fp aAn
e e - gonforar & |

(@ wRa § s omi w1 fawm 2 o
ye3-Fmie | st gl w1 S0 W
®RE

(3-A)
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Passage - 4

India accounts for nearly a fifth of the
world’s child deaths. In terms of numbers, it is
the highest in the world — nearly 16 lakhs every
year. Of these, more than half die in the first
month of life. Officials believe that the reason for
this is the absence of steps to propagate basic
health practices relating to breast feeding and

immunisation. Alsc the

large reproductive
population of 2:6 crore remains bereft of care
during the critical phases of pregnancy and
post-delivery. Added to this is the prevalence of
child marriages, anaemia among young women

and lack of focus on adolescent sanitation, all of

which impact child death rates.

Passage -5

Foeds travel more than the peaple who eat
them. Grocery stores and supermarkets are
loaded with preserved and processed foods. This,
however, often leads to environmental threats,
such as pollution generated by long distance food
transportation and wastage of food during
processing and transportation, destruction of
forests, reduced nutritional

rain content,

increased demand for preservation and
packaging. Food insecurity also increases as the
produce comes from regions that are not feeding

their own population properly.

5.  With reference to the above passage, which of
the following statements is/are true ?
Which is the eritical inference that can be 1. Consuming regionally grown food and
l?
made from the above passage 7 not depending on long travelled food is a
{a} A lot of Indians are illiterate and hence part of eco-friendly behaviour.
do not recognize the value of basic
health practices. 2. Food processing industry puts a burden
on our natural resources.
(b) India has a very huge population and
the government alone cannot manage , .
. : ' Select the correct answer using the code given
public health services. bel
elow :
()  Universalization and integration of @ 1onl
maternal health and child health Y
services can effectively address the ® 2only
problem.
{¢) Both1land?2
(d)  The nutrition of women in child bearing
age does not affect child mortality rate. (d) Neither 1 nor 2
B-AQN-O-KYB (4--A)
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B-AQN-O-KYB

ufeeg - 4

form ) w17 gog ® AT qiEl W R
F % | W& % AWR W, ¥§ g0 § Haius
o9 9 & — @ 16 wrg Wia 9§ | @ g,
at & s I e Fym A H § TG A
Tt & | S fk sfteefet W favere R, 9
w1 T 2 5 wm el wiwsfww
(TRgTEoT) U gt YRE WITeey =Tl F
R & fou #em T 3em oM § | oE A,
9.6 e & fawme miur-ahg SHEE e
YT VAT GeheqU 9 % NH SEE &
afag off &ft wh 2 | 3 W feE & g,
gafoal # aewan (offiER) Fon Feeen i
Tesal R 99w e 4 g oft mfie ], S @ft
o1 gog T B I N E |

(7o) TehTen A1 Tt © 7

(a) wEA & v fReR § g@forq smmaroM
TR AR 1 Hed TE UgEEd € |

HRE & SHEEd HAfd e & R Fad
TR & R TR Vai3il 1 Java T
F gehd] |

{b)

() TW TR U 9 @R fersl
Ghigd w1 I FEH gaw W A 39
e Y TR 9 | &9 fRa S weRa
E:l

@ miyredr afgensl w1 9w S go
2 ! i T T

IEE whedg B, F-E Rufrs s

uf=de -5

T T, A @R G A e,
aiftrs amn @ 3 | fRE wver o gW "R
rfafia (Rreed) i yowpa (yiene) @ aqe @
g § | qul, v 3Ed wiania wa oft agd
%, N ot gft 7 W veet & wiEe § g
el WU T W U TiEe % ENH @
verd 1 oad wE, FEl-wEg A @ feE, dive
s § i, weeror ok ¥6fom i 7t g i
T s oft w5 Wit 3 wifs ¥ oA 3 &
¥ AW N AT TGS B IYE G wQY
T8 fgen |

5. I uiedg % gl H, Frefatem # @

F-9/2 e wE 3/E 2

1. onfty 9 & ITe Y @I 9GS} 1 IO
ST R & AR A AN T @R g
W et 7 B9 geieRv-oTIEel! S9eEK &
U g

2. @™ yEERw (NAfT) Im g wrpfes
ware! (i) vt e grer § |

e Ry e e @ T R E I g

(a) Fae 1

(b) a2

() 13M2gH

(d AdM1,7E 2

(5-A)
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Passage - 6 6. The author says that a thoughtless word
hardly ever escapes his tongue or pen. Which

T must say that, beyond occasionally one of the following is no# a valid reason for

exposing me to laughter, my constitutional this ?

shyness has been of no disadvantage whatever.

In fact I can see that, on the contrary, it has (@) He has no intention to waste his time.

been all to my advantage. My hesitancy in
. . (b)  He believes in the economy of words.

speech, which was once an annoyance, is now a

pleasure. Its greatest benefit has been that it

(¢} He believes in restraining his thoughts.
has taught me the economy of words. I have

naturally formed the habit of restraining my (d) He has hesitancy in his speech.
thoughts. And I can now give myself the
certificate that a thoughtless word hardly ever
escapes my tongue or pen. I do not recollect ever
having had to regret anything in my speech or 7. . The most appropriate reason for the author to
writing. I have thus been spared many a mishap be spared many a mishap is that
and waste of time. Experience has taught me

(a)  he hardly utters or writes a thoughtless
that silence is part of the spiritual discipline of a

word.
votary of truth. Proneness to exaggerate, to
suppress or modify the truth, wittingly or {b}  heis a man of immense patience.
unwittingly, is a natural! weakness of man, and
silence is necessary in order to surmeunt it. A {c)  he believes that he is a spiritual person.

man of few words will rarely be thoughtless in _
(d}  heis a votary of truth.
his speech; he will measure every word. We find

30 many people impatient to talk. There is no
chairman of a meeting who is not pestered with
notes for permission to speak. And whenever the |8, For the author, silence is necessary in order to
permission is given the speaker generally surmount

exceeds the time-limit, asks for more time, and _ )
keeps on talking without permission. All this (a) constitutional shyness.
talking can hardly be said to be of any benefit to (b}  hesitancy in speech.
the world. It is so much waste of time. My
shyness has been in reality my shield and (©) suppression of thoughts.

buckler. It has allowed me to grow. It has helped (d) tendency to overstate.

me in my discernment of truth.

B-AQN-O-KYB (6-A)
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ufesg -6

# v 9N W w7 wwm § fe A wonlEw
yffied %« fa Ig-wd B W U W
1 %, T et oft g oft w1 THEm & gam |
are #, WE 03 aan 8, % s fadla, g2
TS GG & g | S H A EHE go TE
FSCH A1, IE e U 8 | THH G99 1 AW
Al 7z 5o R v 43 weq) o Firereatira R |

. g3 R faerd W e W@ Tga wed 8 TS
T | 3ff o # gg 7§ yHOg9s § gt € T
¥ i I wem A i e TRR € 998 =
e 8 | g3 AR T gga 6 s W @
9@ ¥ et oiw & forg g9 =it WA T A
™ e § os @R & = g 3 A g
Ty w1 | e 3 09 9 Remn R e e
e % fow f7 we onemfaRs e W
#T1 % | TS 98 wies waed 2 w9
AR § 7FE Fg1-9e1 B Siedr § JET I
Fe dg ¢ 38 Toumr R i w9 d wE@ B |
T\ W fowm on & foau oft o straves & 1 WA
Se arer o farem @ e R T weg Y
AT | 7 e & 6 W5 § 69 |led % fon
IR @ | Fe Yo w1 tm B wly 7
M @ Sen i agafs iR el f | wwm
T B vel B | o I ot e o vy R s
2 A1 o6 AR 9T EHY-HE | ST €% I B,
3R atfas wmm H g w@ B, R G e
% ofi SE WA ? | 36 OR e ° g % SR
T B W VT ARG & FE A T B | U
THY H O TN | A0 Seensfioran e
H g o I & o @ | ER gR IR B
1 e fren | 5 %) wsaEe B g9 39 S
fireft |

B-AQN-O-KYB

(7-A)

Ew FEa & T gl i @1 wom ° fom
ot wge € 9 vee Fwear @ | Fefalea
& FHH T, 7901 4 S0 TgT 2 2

(a) YT EY gEie HA 1 ITH FE TS
Tapf%y

(b) I8 I=g) o Tirdeafier # fova AT § |

(©) a8 ¥ fomdi W e @ d§ fawEw
HT 8 |

(d) 34 e § HehrE BT R |

AGF F ofF Wal d W T F wEIUS
I IO T8 2

(a) 8 ToT e s € WS e S @
foraa 8

(b) a8 o1eda Sdweh safwr &

(c) zEw favam & % 98 = enemfaes
=i 8 |

(d) o8 G F IYEF & |

wEs ¥ fou, e w foom o & fau 9=
AT & 7

(a) TR fer

(b) HEH § R

(0 foeml w & @
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9.  Twelve people form a club. By picking lots, { 12,
one of them will host a dinner for all once in a
month. The number of dinners a particular
member has to host in one year is
(a} One
(b} Zero
(c) Three
(d) Canneot be predicted

10. An automobile owner reduced his monthly
petrol consumption when the prices went up.

The price-consumption relationship is as
follows :
Price (in T per litre) 40 B0 60 75
- 13.
Monthly consumption (in litres) 60 48 40 32
If the price goes up to T 80 per litre, his
expected consumption (in litres) will be
(a} 30
(b} 28
() 26
(d) 24 14.
11. Consider the figures given below :
¥y v
T2
AV
To fit the question mark, the correct answer
is
A
@ I
A
{b) I
v
(c) l
(d) I
v
B-AQN-O-KYB (8-A)

Consider the follow:ng matrix :

3 8 10 2 ? 1

6 56 90 2 20 0.

What is the missing number at ‘7 in the
matrix ?

(@ b
b 0
(e} 7
(d) 3

What is the missing number X’ of the series
7,X,21,31,437

{a}) 11
{b) 12
{e) 13
d) 14

Four cardboard pieces of specific shapes are
shown in the following figure :

B—
‘T]
Which one of the following figures given can

be formed by joining these pieces together ?

{a)

o [
o [TF

(d)

8 www.jkchrome.com
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9. NE AN 319 UF FoE 0 o § | R A |12, AR Ry u avep w faew i

W, TH (R R, I A @ e wft & 3 A 10 ) ) )
fau ofysfs & Soerh s ) ues o ° e
iy g w1 fead 9w uintw Y Awee 6 56 | 90 2 20 | 0
f;ﬁj;ﬁ? ey § yA-fg () I wE § R T /3
b I 22
(¢) dR fa) 5
(d) AWM TE T S weh (b) 0

0. T e TR R 3, e B AW | o

W, 3794 A1l Y9 1 IUs wE e e

HIE-ITHIT T §E THR T 13. 9t 7, X, 21, 31, 43 § TH §EAT K T} 7
dma (T ufafler®) 40 50 60 75 (@) 11
ATfes Sua (sfietd) 60 48 40 32 by 12
7f2 Fiwa 9 T 80 I ofiet 76 B Y, | (€ 13
FeeRT apETtE gun (et ) % g 2 (d)y 14
Egi gg 14. 49 @ 7 anafa o fofire sl s Ww ™
(© 286 % gehe fo@m mu 8
(d) 24 b.
11, 2 & sl w faam Hifsw D D
A v
[ NP : zwdt I oW, A G
' 3 2 Th 19 2 W,
ggma?mw%ﬁm-ﬁaéxwmw ;@eﬁﬁﬁg f © InFfa T S T
) )
o e =
A
(b) (b} /

s o [TF
d
@ I (d)

B-AQN-O-KYB (9~-A)
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15, In a test, a candidate attempted only | 18.
8 questions and secured 50% marks in each of
the questions. If he obtained a total of 40% in
the test and all questions in the test carried
equal marks, how many questions were there
in the test ?
(a) 8
by 10
e} 15
(d) 16
16. A father is nine times as old as his son and 19.
the mother is eight times as old as the son.
The sum of the father’s and the mother’s age
is 51 years. What is the age of the son ?
(a) 7years
(b) 5 years
(e} 4 years
{(d) 3years
17.  Four persons A, B, C and D consisting of two
married couples are in. a group. Both the 20
women are shorter than their respective ’
husbands. A is the tallest among the four. C
is taller than B. D is B’s brother. In this
context, which one of the following statements
is not correct ?
(a) Al four have family ties.
(b) B is the shortest amoeng the four.
fey  Cistaller than D.
(d) Ais B’s husband.
B-AGQN-O-KYB ( 10-A)

Consider the following statements ;

1. A man had a wife, two sons and two
daughters in his family.

2. The daughters were invited to a feast
and the male members of the family
went out to take part in a picnic.

3. The man’s father did not return from
his work.

Which of the following statements is true ?
{a)  Only the man’s wife was left at home.

(b) It is likely that the man’s wife was left
at home.

(c) None was left at home.

{d) More than one person was left at home.

Naresh has become a better boxer
since he started meditation.

Geeta :

Radha : Impossible. A boxer’s most important
asset is his aggressiveness.

Radha's statement reflects her belief that

(a) meditation tends to make a person less
aggressive.

(b) meditation has little or no effect on the
person who practises it.

{¢)  Naresh was a poor boxer earlier because
he was not aggressive enough.

(d) Naresh would not have taken to

meditation as he was a boxer.

All good athletes want to win and all athletes
who want to win eat a well-balanced diet;
therefore all athletes who do not eat a
well-balanced diet are bad athletes.

The best conclusion from this statement is
that

(a) no bad athlete wants to win.

(b) no athlete who does not eat a
well-balanced diet is a good athlete.

(¢)  every athlete who eats a well-balanced
diet is a good athlete.

(d) all athletes who want to win are good
athletes.

10 www.jkchrome.com
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15.

16.

17.

B-AQN-O-KYB

w qltan #, et qliemeff 9 Faw 8 WA W
g 3 H TF R it v % W H 50%
i e foew | Afg see 3w ol § 9 40%
3 i fu o qhen % aft WAl % o
S A, 99 39 gha H fFad v 9 ?

(a) 8

(by 10
() 15
(d) 16

T T i 3w, 39 T3 6 3@ K A R A
o7 < 3 39 G 1 3@ i e T @ 1 o
31R Tran i IW = ATES 5199 & | gF I

R 7
(@) 798
() 599
(c) 4N

(d) 399

wF @g i A, B, C 3t D 9 =afw gt faeriea
Frel & w5 & § | 9N el e ufet @
vaE S 81 A # vEE, 9% 0 ged
g cHhoEs BR AfF 2 | D,BH
aE 2 | 3q ey #, frefafa weai & @
H-81 T G675 R 2

(a) aft A safwai § o g9y 3 |
(by & =l o, B TS GO HH B |

(¢) CH =R DY ’UH § |

@ A BwFrufa?

18.

19.

20.

{(11-A)

fyfefad swaat w fomm $ifso -

1. T afedl % wREr § & U, 2 g o
g gt of |

2. gl wh W W A R e
qfEn & g5y Tee fete W oam w
|

3. 39 anerfl w1 U a9 W ® 9w T
et |

Frfeifigs § @ =T HuT w5 8 7

(a) Fa 39 Tedt )yl & WM W @ T8
il

(b) IE GET 2 5 39 anedl &t o & W
WE M

(¢) ©CT 1S ot 981 w o o |

(d) W UH U 2 =gt @ oo

ar . ¥ 4 W 3 wF (AEdyE) sy fE
2, 98 1es 7= ST 9 T B

ggr: Eya 1 TR st w1 Aew
TETEqUl VT I AHETHAT B |

YT 1 FU I 39 favam =) wfafafed s

T

(a) 9 N vgfa fre =T F1 FH IFTHEHS
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Directions for the following 8 (eight) items : Passage - 2

Read the following seven passages and answer the
ttems that follow. Your answers to these items
should be based on the passages only.

Set against a rural backdrop, ‘Stench of

kerosene’ is the story of a couple, Guleri and

Passage — 1

The richer States have a responsibility to
cut down carbon emissions and promote clean
energy investments. These are the States that
got electricity, grew faster and now have high
per capita income, making them capable of
sharing India’s burden of becoming eco-friendly.
Delhi, for example, can help by generating its
own clean electricity using solar rooftop panels
or even help poor States finance their clean
energy projects. It is no secret that State
Electricity Boards, which control 95% of the

Manak, who have been happily married for
several years but do not have a child. Manak’s
mother is desperate to have a grandchild to carry
on the family name. Hence, she gets Manak
remarried in Guleri’s absence. Manak, who acts
as a reluctant but passive spectator, is
meanwhile, informed by a friend that Guleri, on
hearing about her husband’s second marriage,
poured kerosene on her clothes and set fire to
them. Manak is heartbroken and begins to live
as if he were a dead man. When his second wife
delivers a son, Manak stares at the child for a

long time and blurts cut, “Take him away ! He

M hd N e - kel
distribution network, are neck-deep in losses. stinks of kerosene.

These losses further discourage State utilities .. L .
g 22, 'This is a sensitive issue-based story which

from adopting renewable energy as it is more tries to sensitise the readers about

expensive than fossil fuels. {a)  Male chauvinism and infidelity

(b} Love and betrayal

(¢)  Lack of legal safeguards for women
21. Which among the following is the most
logical and rational assumption that can

be made from the above passage ?

{d) Influence of patriarchal mindset

(at  The richer States must lead in the Passage - 3

production and adoption of renewable The ultimate aim of government is not to

Cnergy. rule or control by fear, nor to demand obedience,

(b) _The poor States always have to depend | but conversely, to free every man from fear, that

on rich States for electricity. he may live in all possible security. In other

- words, to strengthen his natural right to exist
ic} The State

improve their finances by undertaking

Electricit; rds ¢ . . .
ctricity  Boa an and work without injury to himself or others.

The object of government is not to change men
clean energy projects. . . .
from rational beings into beasts or puppets. It

(d)  The high economic disparity between | should enable them to develop their minds and

the rich and poor States is the major | bodies in security, and to employ their reason

cause of high carbon emissions in India. unshackled.

B-AQN-O-KYB (12-A)
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T B |
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21.

B-AQN-O-KYB

(13-

ufredq - 2
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6l T7 Jaw g W aar ) w9 Ieh g8l
7l U @ A A ol B, @ A &= H TR
3 e A & aft £ e ge 2, ol 7wl B
Ul | 3EH HUEH Hl gla I 2 1

20, I8 TITTHIR WHCA-UTRA FErl TEE
g i T FFTEH L % TIH B B 7
(@) TewETR (W WfafeE) e arme
(sfwsferdl)
(b) WOR ¥R fogawmm -
o e % R R e 6 w0

(@) TogeareTs T 1 9T
af=ag - 3

THH H TH AL P WA HE F
Ergor e 98 &, 3 T & s & e
@ 2, Sfw e [ATd, T SaRE H = A
o w6 § el 9 @ a9 ave g Sfiew
St wh | g Weq § @, o @g F W A
#1710 Ugan, Sfeaed T T 3N HH B F
Sfite iferR &1 99 F 8 | QIR H 3¢
At = fadasfia =l o wea 3% U ;@
wogdferdl T T8 3 | SR F 36 TRA HEES
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23. Which among the following is the most
logical and rational inference that can be
made from the above passage ?

{a)  The true aim of government is to secure
the citizens their social and political
freedom.

(b} The primary concern of government is
to provide absolute social security to all
its citizens.

(c} The best government is the one that
allows the citizens to enjoy absolute
liberty in all matters of life.

(d) The best government is the one that
provides absolute physical security to
the people of the country.

Passage - 4

Our municipal corporations are
understaffed. The issue of skills and
competencies of the staff poses an even greater
challenge. Urban services delivery and
infrastructure are complex to plan and execute.
They require a high degree of specialization and
professionalism. The current framework within
which municipal employees, including senior
management, are recruited does not adequately
factor in the technical and managerial
competencies required. Cadre and recruitment
rules only specify the bare minimum in academic
qualifications. There is no mention of managerial
or technical competencies, or of relevant work
experience. This is the case with most municipal
corporations. They also suffer from weak

organisation design and structure.

24. Which among the following is the most
logical and rational assumption that can
be made from the above passage ?

{a)  The task of previding urban services is a
complex issue which requires the
organisational expansion of municipal
bodies all over the country.

(b)  Our cities can provide better guality of
life if our local government bodies have

adequate staff with required skills and
competencies.

{c)  Lack of skilled staff is due to the
absence of institutions which offer the
requisite skills in city management.

(d)  Our country is not taking advantage of
the demographic dividend to manage
the problems associated with rapid
arbanization,

Passage - 5

Flamingos in large flocks in the wild are
social and extremely loyal. They perform group
mating dances. Parents are very fond of their
chicks, gathering them into créches for
protection while both males and females fly off to
search for food.

25. Which among the following is the most
logical corollary to the above passage ?

(a}  Mass nesting in all species of birds is
essential to ensure complete survival of
their offspring.

(b)  Only birds have the capacity to develop
social behaviour and thus can do mass
nesting to raise their chicks in safety.

(¢)  Social behaviour in some species of
birds increases the odds of survival in
an unsafe world.

(d)  All species of birds set up créches for
their chicks to teach them social
behaviour and lovalty.

B-AQN-O-KYB {14-A)
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B-AQN-O-KYB
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Passage - 6

Vast numbers of Indian citizens without
bank accounts live in rural areas, are financially -
and functionally illiterate, and have little
experience with technology. A research study
was conducted in a particular area in which
electronic wage payments in Mahatma Gandhi
National Rural Employment Guarantee Scheme
(MGNREGS) are meant to go directly to the
poor. It was observed that recipients often
assume that the village leader needs to mediate
the process, as was the case under the previous
paper-based systemn. Among households under
this research study area who claimed to have at
least one bank account, over a third reported
still receiving MGNREGS wages in cash directly

from a village leader.

26. What is the most logical, rational and
crucial message that is implied in the above
passage ?

(a) MGNREGS should be extended only to
those who have a bank account.

(b} The paper-based system of payments is
more efficient than electronic payment
in the present scenario.

(¢} The goal of electronic wage payments
was not to eliminate mediation by
village leaders.

(d) Tt is essential to provide financial
literacy to the rural poor.

B-AQN-O-KYB (16 -

Passage - 7

Individuals, groups and leaders who
promote human development operate under
strong institutional, structural and political
constraints that affect policy -options. But
experience suggests broad principles for shaping
an appropriate agenda for human development.
One important finding from several decades of
human development experience is that focusing
exclusively on economic growth is problematic.
While we have good knowledge about how to
advance health and eduecation, the causes of
growth are much less certain and growth is often
elusive. Further, an unbalanced emphasis on
growth is often associated with negative
environmental consequences and adverse
distributional effects. The experience of China,
with its impressive growth record, reflects these
broader concerns and underlines the importance
of balanced approaches that emphasize
investments in the non-income aspects of human
development.

27. With reference to the above passage, consider
the following statements :

1. In developing countries, a strong
institutional framework is the only
requirement for human development
and poliey options.

2. Human development and economic
growth are not always positively
inter-related.

3.  Focusing only on human development
should be the goal of economic growth.

Which of the above statements is/are correct ?
{a) 1only

(b) 2 and 3only

(¢} Z2only

{d) 1,2and3

A)
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28. With reference to the above passage, the | 32.
following assumptions have been made :
1. Higher economic growth is essential to
ensure reduction in economic disparity.
2. Environmental degradation is sometimes
a consequence of economic growth.
Which of the above isfare valid
assumption/assumptions ?
(a) 1only
(bY 2only
(¢) Bothland2
(d) Neither 1 nor 2
29. If A runs less fast than B, and B runs as fast
but not faster than C, then, as compared to A,
C runs
(a) slower than A a3,
(b) faster than A
(¢}  with same speed as A
(d)  Given data is not sufficient to determine
30. Eachof A, B, C and D has ¥ 100. A pays T 20
to B, who pays ¥ 10 to C, who gets ¥ 30 from
D. In this context, which one of the following
statements is not correct ?
(a)  C is the richest,
(b)  Dis the poorest.
(¢) C has more than what A and D have
together,
{(d) B is richer than D.
31. In a town, 45% population read magazine A,
356% read magazine B, 40% read magazine C, | 34.
30% read magazines A and B, 15% read
magazines B and C, 25% read magazines A
and C; and 10% read all the three magazines.
What percentage do not read any magazine ?
(a) 10%
(b) 15%
() 20%
(dy 25%
B-AQN-O-KYB {(18-A)

Examine the following statements :
1.  Lady’s finger is tastier than cabbage.
2. Cauliflower is tastier than lady's finger.

3.  Cabbage is not tastier than peas.

The conclusion that can be drawn from these
statements is that

{a)
{h)

peas are as tasiy as lady’s finger.

peas are as tasty as cauliflower and
lady’s finger.

{e) cabbage is the least tasty of the four
vegetables.

(d}  cauliflower is tastier than cabbage.

Shahid and Rohit start from the same point in
opposite directions. After each 1 km, Shahid
always turns left and Rohit always turns
right. Which of the following statements is
correct ?

(a) After both have travelled 2 km, the
distance between them is 4 km.
(b) They meet after each has travelled

3 km.

(e} They meet for the first time after each
has travelled 4 km.

(d) They go on without ever meeting again.

In a 500 metres race, B starts 45 metres
ahead of A, but A wins the race while B is still
356 metres behind. What is the ratio of the
speeds of A to B assuming that both start at
the same time ?

{a) 25:21
(b) 25:20
(e) 5:3
(dy &§5:7
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9. wafEw ® e, s it
wqfy 1 & wiom g 2
It A ¥ S 3y gron)/awend §/3 2
(a) Had 1
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29, I A, B B HH o9 4151 8, 3N B, C F TN
T §, A o8 afue AW T, e A
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(a) AT o
by AT 33.
(¢) A% ST I @
@ fratfa w0 % fog g T sifes st
3
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2 | frmn wigwa o +18 ufde 7gF vea ?
(@) 10%
(b) 15%
ey 20%
(d) 25%
B-AQN-O-KYB (19-A)
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(@) 25:21
M) 25:20
() 5:3

(dy 5:7

19 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com



20 www.jkchrome.com www.jkchrome.com

www.jkchrome.com

35. Two equal glasses of same type are |38.
respectively 1/3 and 1/4 full of milk. They are
then filled up with water and the contents are
mixed in a pot. What is the ratio of milk and
water in the pot ?

(a) 7:17

(b) 1:3

(0 9:21

(d) 11:23 39.

36. Out of 130 students appearing in an
examination, 62 failed in English, 52 failed in
Mathematics, whereas 24 failed in both
English and Mathematics. The number of
students who passed finally is

(a) 40
by 50
(e) bbb
(d» 60

37. In a group of persons travelling in a bus,
6 persons can speak Tamil, 15 can speak | 49,
Hindi and 6 can speak Gujarati. In that group
none can speak any other language. If
2 persons in the group can speak two
languages only and one person can speak all
the three languages, then how many persons
are there in the group ?

fa) 21
(by 22
{ec) 23
d)y 24
B-AGN-O-KYB (20-A)

In a parking ares, the total number of wheels
of all the cars (four-wheelers) and scooters/
motorbikes (two-wheelers) is 100 more than
twice the number of parked vehicles. The
number of cars parked is

(a) 35
(b) 45
(¢c) 50
(d 55

The mangroves can shed tons of leaves per
acre every year; fungi and bacteria break
down this leaf litter and consume it, they then
are consumed by tiny worms and crustaceans,
which in turn feed small fish, which feed
larger fish and birds and crocodiles.

Which among the following is the most
logical inference of the above statement ?

(a) Coastal areas cannot have food chains
without mangroves,

(b)Y Mangroves are an essential component
of all marine ecosystems.

(¢) Mangroves have a crucial role in some
of the coastal food chains.

(d) The composition of marine flora and
fauna is largely determined by
mangroves.

“By liberty I mean the eager maintenance of
that atmosphere in which men have the
opportunity to be their best selves.”

Which one of the following expresses the view
implied in the above statement ?

{a} Liberty is the absence of restraint on
human action.

(b) Liberty is what law permits people to
perform.

(¢}  Liberty is the ability to do what one
desires.

(d)  Liberty is the maintenance of conditions
for the growth of human personality.
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T ww A firen fear m | 5w O A gw ik
Tl 1 ST TR 2
@ 7:17
(b 1:3
© 9:21 a9,
(d 11:23

36. W gqiwm # wnfrem 130 TenfEi d 4,

62 foremeff sht # srgefiel gu, 52 Faenefi nftm
1 el gu, Fafer 24 femeff sl ofk it
21 # it gu 1 fm w8 Il @ A
Tt ) sen w0 R 2

{a) 40

(b} 50

(¢} Bb

(d) 60

37. Treh wa & 9o 50 90 = F & a9gg F, | 40-
6 =l qfirel siel @ehd 8, 15 e & ae
gehd € 3 6 i o a1 Hd & | 3W
g 4 = ff ke 1 oy A A9
aFa | 4l 36 W % 2 SAte Faw @ wnd
I Ghd & o T st ot it g S|
wFdl 8, 99 39 UNg § $F fhad oAl & 2
(a) 21
(b) 22
(c) 23
(d 24
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fopet wifn & #, wft ®R (IR-afear am@)

3t wpem wEfeet (R awd) %
gfgal Y o T, arh Ty U aTEAl 6t wean
F PH A 100 TG ¢ | I H T HW H
G TR 7

(a) 35

(b) 45

{c} 50

(d) 55

I Tofrd F1 WA A E, R 3 oft =&

westerl, uftrl oft ot 1 Wiem =9 I E

frafafga & & sFw w, SEF @ H

HFIerF ATl HFAA (3797) 27

(a) Mm% fem wdm 8§ emEw
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() B=iE & et wgd oA (SiRnem)
% e 9T § |

(c) AUy TG @ gEared § A
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g B o g futfa g g
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fAfga gfeshr = =& =@ 8 7

(a) @a=dl AEEE FEHam W FEEw @
FYE B |

(b) aaa a8 g, fa Fenfzg 0 % fo
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(¢) T WTETE 1 Y 1 G § |
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Directions for the following 7 (seven) items :

Read the following six passages and answer the
items that follow. Your answers to these items
should be based on the passages only.

Passage - 1

Climate change is already making many
people hungry all over the world, by disrupting
crop yields and pushing up prices. And it is not
just food but nutrients that are becoming scarcer
as the climate changes. It is the poorest
communities that will suffer the worst effects of
climate change, including increased hunger and
malnutrition as crop production and livelihoods
are threatened. On the other hand, poverty is a
driver of climate change, as desperate
communities resort to unsustainable use of

resources to meet current needs.

Passage — 2

The Global Financial Stability Repoert finds
that the share of portfolic investments from
advanced economies in the total debt and equity
investments in emerging economies has doubled

in the The

past decade to 12  percent.
phenomenon has implications for Indian policy
makers as foreign portfolio investments in the
debt and equity markets have been on the rise.
The phenomenon is also flagged as a threat that
could compremise global financial stability in a
chain reaction, in the event of United States
of its

Federal Reserve's imminent reversal

“Quantitative Easing” policy.

42. Which among the following is the most
41. Which among the following is the most rational and critical inference that can be
logical corollary to the above passage ? made from the above passage ?

(a}  Government should allocate more funds
to poverty alleviation programmes and {a) Foregin portfolio investments are not
increase food subsidies to the poor good for emerging economies.
communities.

(b}  Poverty and climate impacts reinforce (b} Advanced economies undermine the
each other and therefore we have to global financial stability.
re-imagine our food systems.

{¢)  All the countries of the world must (¢) India should desist from accepting

it i fighti vert . . .
e .11.1 ighting  poverty  and foreign portfolio investments in the
malnutrition and treat poverty as a
global problem. future.

(d) We must stop unsustainable . ) )
agricultural practices immediately and (d)  Emerging economies are at a risk of
control food prices. shock from advanced economies.

B-AQN-O-KYB (22-A)
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Ao 7 (ara) ww=r9ri & forg A3
Fefafea oy uftedel & 9lew 3k 3% #1331
FIe TS & IO T | §F FEII F IR I
97 g7 vh=ae W & smyifa g7 T1fee |

ufedg -1

WAy afted & FRW woe I A
whae o Fmar # 9fg a9 R w9, ¢ e
i agm "R A Ued @ & yEwd w1 Ren # 1 o
FEER TREd F FHO A @@ & 9E afew
gryeh.aee off WuatE g W W@ E | AR wEe
i 39 3l e W R & Ul T @ 3R,
aed e @gEE & @, gEnt ol e &
w21 % G, FeEy giedd & gE g TmEr 9
T BT G | g SN, T ey e
FRE 2, FH [N YT AW SOEH
ARl B [ B S AU e *
SRR (TS ITT H IHT A § |

4. Tfafgs & ¥ fhw, sogw Tiede w

qatfere arfdha safmeT (Fiad) &7

(2) WEHR F1 TS I[EH FRHAT & fow
it faftei =1 e e =nfgn ek

fady aerl @ fow oW 9 @ SvgH

(ufeuda) o gfg wch =few |

(b) FRedq@m qo Fe@ETg F TWE THGW B
T 24 € ok sufom wH awl @
STt Sl qaehed=T SR B |

(¢} Tova & wft 3ot %1 nlef ok Foiwor |
el ¥ U whge @91 € =gy ok
T i Teh AT g i wifa 2@
e |

d) & g unefm  (FHERded) HN
ygferll @ &€ & &A1 Tien e @
&mal =1 e =@ afge |

ufeag - 2

v foein foom foiid (veftee wrgAfra
it i) 3w 2 fe 39a adfegaranat @,
Rw d, few mn deifan faw 1 v fiss
20 H M1 geRt 12 Jfdea & TR0 39 gE
F wrdte Afa Fmtwesl @ mre gwfeg § w=ife
w0 qur Sfead aremy § fadsf olwifern faw
wEd @ & | 96 HeAl W UHk SRt w@rEn &
@ 3 5 Eree =y buw o i s
da (Faifeetes $fm)” Ay § o soEEw
FEre feda) 8" & < §, ™ jEaEg
vhafsra % & o fava 1 I<ha fena =t § ug
Tehdl € |

42. 30w Uimoe ®, fafafes d @ sRa
waffires  a@ana  Fw [Rufes sgEe

(z7%ia) freren n s & 2

(@) R g ofemewers % foe faeeh

TGifern ey or=a A8 & |

(b) 3G rdeaaryrd fava &1 forfa fooman =i
e w8 |

(c) ¥Ra i wiasy # faesh aewmie fam
R == § s=q1 AiEe |

@ I g oriemmewsi @I, 39
arelegaed1an ¥ fier ae aR 1 T
TR |

(23-A)
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Passage - 3

Open defecation is disastrous when
practised in very densely populated areas, where
it is impossible to keep away human faeces from
crops, wells, food and children’s hands,
Groundwater is alse contaminated by open
defecation. Many ingested germs and worms
spread diseases. They prevent the body from
absorbing calories and nutrients. Nearly one-half
of India’s children remain malnourished. Lakhs
of them die from preventable conditions.
Diarrhoea leaves Indians’ bodies smaller on
average than those of people in some poorer
countries where people eat fewer calories.
Underweight mothers produce stunted babies
prone to sickness whe may fail to develep their
full cognitive potential. The germs released into
environment harm rich and poor alike, even
those who use latrines.

43. Which among the following is the most
eritical inference that can be made from the

above passage ?

(a) The Central and State governments in

India do not have enough resources to
afford a latrine for each household.

(h). Open defecation is the most important

public health problem of India.

{¢) Open defecation reduces the human
capital of India’s workforee.

(d) Open defecation is a public health
problem in all developing countries.

Passage - 4

We generally ialk about democracy but
when it comes to any particular thing, we prefer
a belonging to our caste or community or
religion. So long as we have this kind of
temptation, our democracy will remain a phoney
kind of demoeracy. We must be in a position to
respect a man as a man and to extend
opportunities for development to those who
deserve them and not to those who happen to
belong to our community or race. This fact of
favouritism has heen responsible for much
discontent and ill-will in our country.

44, Which one of the following statements best
sums up the above passage ?
(a) Qur country has a lot of diversity with
its many castes, communities and
religions.

(b)Y  True democracy could be established by
providing equal opportunities to all,

(¢) So far none of us have actually
understood the meaning of democracy.

() 1t will never be possible for us to
establish truly democratic governance
in our country.

Passage - 5

The existence/establishment of formal
financial institutions that offer safe, reliable,
and alternative financial instruments is
fundamental in mobilising savings. To save,
individuals need access to safe and reliable
financial institutions, such as banks, and to
appropriate financial instruments and
reasonable financial incentives. Such access is
not always available to all people in developing
countries like India and more so, in rural areas.
Savings help poor households manage volatility
in cash flow, smoothen consumption, and build
working capital. Poor households without access
to a formal savings mechanism encourage
immediate spending temptations.

(24— A)
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45. With reference to the above passage, consider | 47. Which among the following is the most
the following statements : logical assumption that can be made from
1. Indian financial institutions do not offer the above passage ?

* any financial instruments to rural {al  Government should always be given
households to mobilise their savings. wide discretionary power in all matters
2. Poor households tend to spend their ~ of administration.
earnings/savings due to lack of access to (b)  The supremacy of rules and safeguards
appropriate financial instruments. should prevail as ~opposed  to the
] . . influence of exclusive diseretion of
Which of the statements given above is/are authority.
correct ? (¢} Parliamentary democracy is possible
(a)  lonly only if the Government has wider
(b}  Z2only discretionary power.
{c) Both1land?2 {d) None of the above statements is a
(d}) Neither 1 nor 2 logical 'assumption that can be made
from this passzage.

46.  What is the crucial message conveyed in the | 48. A selection is to be made for ane post of
passage ? Principal and two posts of Vice-Principal.
(a) Establish more banks Amongst the six candidates called for the
(b}  Increase the Gross Domestic Product mtgnrxew, onl.y two are eligible f,mj the post of

Principal while they all are eligible for the
(GDP) growth rate . . .
o 1 he £ bank post of Vice-Principal. The number of possible
€ nerease the interest rate of ban combinations of selectees is
deposits ta) = 4
(d)  Promote financial inclusion () 12
(¢} 18
Passage - 6 _ (d)  None of the above
Governments may have to take, steps 49. A stuf.lent has to opt for 2 subjects out of
y 7 ] Lo 5 subjects for a course, namely, Commerce,
which would otherwise be an infringement on Economics, Statistics, Mathematics 1 and
the Fundamental Rights of individuals, such as Mathematics II. Mathematics Il can be
acquiring a person’s land against his will, or offered only if Mathematics I is also opted.
refusing permission for putting up a building, The number of different combinations of two
but the larger public interest for which these SUbJecfs which can be opted is
are done must be authorized by the people ;[:; g
(Parliament). Discretionary powers to the ) 7
administration can be done away with. It is (dy 8
becomingl m.ore .anld more difficult to keep this 50. A person ordered 5 pairs of black socks and
power within limits as the government has some pairs of brown socks. The price of a
many number of tasks to perform. Where black pair was thrice that of a brown pair.
discretion has to be used, there must be rules While preparing the bill, the bill clerk
and safeguards to prevent misuse of that interchanged the number of black and brown
power. Systems have to be devised which pairs by mistake which sncrea.sedl the bill by
L . 100%. What was the number of pairs of brown
minimise, if not prevent, the abuse of . O .
, ) socks in the original order ?
discretionary power. Government work must be a) 10
conducted within a framework of recognised (b) 15
rules and principles, and decisions should be {c) 20
similar and predictable. (d} 25
B-AQN-O-KYB (26-A)
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@ 13 2gEt

(@ T, TE2

g yiwse & grr o1 dgeaqu dey fomr mn

27

(a) afftrs ST 1 wnfda &

(b) WA WE INE (GDP) H g T A
AL

() &% T (feuifor) W == g & ST

) Ty gAEYH w1 Aeaied

ufsBs - 6
TFH F U Hem IJH 9§ GFd & A

ST sahndl & wifers el %1 stfdeed W
¥ 3y feh =fs f oo 5 forg swh =
siftuger wwn, @ fedl wen-fmin 6 argefa @
¥ TR F, g R JeeR sieefed 6 fore T
i ST 2, TR ST (WEQ) g Wiftwa fen
T IEYE & | A fefeRr # e
foran 1 WAt & | 9fk, GEHR I D T FH
vg ® %, 58 aften = g § e PR w5
BT S T@ 2 | TEf R W WE S g
2, T8 39 IUHER F geaIm H A * fore fm
e T aTEvg g wiee | W sEen # 3R
Heit grft, S Rrdwfrwrt % gErEm @), IR W%
a1 oF, 9 R @ W gH | G HwE A
fradt ot fagral % €9 ¥ = & e I
wifty, @w fofe =9m w9 T @A
(Tofgeeaer) 87 =13 |

B-AQN-O-KYB

www.jkchrome.com

47.

48.

49.

50.

(27-A)

Tfw ufeee @ foefafga & 8 #ME,

gaffera arfde gror 41 S w8 2

(a) TER H TETET & oft fawai wogAm
foareqa feraamftramt foan <tr =fe |

(b) TR F oty R &yt €M
i e, P i e B FE

@ 3IFEE H A SIS o wym Ul arfehe wmen
T4 2 A 39 =R ¥ ¥4 S HE |
TS % U 9¢ T U-GHEEE & A U6l
¥ foru = d1 ] | WIRNGHN % foTn Y T
6 sofiearl § & F99 4l IEicaR JUHEE &
¥ fou o ¥ Sefs NguAEE % 92 F
3 off soflger o & | g I A
P % wfi twe wAEE R FEn w9

@f%ﬁﬁ

4

(h)y 12
{c)

18

() I A § B8 T

s frarfi ® T uewen % fo 5 i,
THa, aTfvrew, aTefETea, wif@gEl, T 1 3
nftra 11 & § 2 vl 5 R | 11 e
oft T 1w & I 7 1o g A
2w F W o g I wWE FEEE
W 0 8 2

100% 9% T | g ATE 7 o [
T w4 ot 2

(a} 10

(b) 15

(c) 20

(d) 25
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31. The number of persons who read magazine X
only is thrice the number of persons who read
magazine Y. The number of persons who read
magazine Y only is thrice the number of
persons who read magazine X. Then, which of
the following conclusions can be drawn ?

1.  The number of persons who read both
the magazines is twice the number of
persons who read only magazine X.

2. The total number of persons who read
either one magazine or both the
magazines is twice the number of
persons who read both the magazines.

Select the correct answer using the code given

below :

(a} 1only

(b 2only

{¢) Bothland?2

{d} Neither 1 nor 2

52. The graph below depicts the earnings of A and
B over the period 2000 to 2010 :

¥ 3
w0
& A ,
E : J
(] ! 1
= B,
1 ]
1 I
2000 2007 2010
Years ———»

From the graph, which one of the following

can be coneluded ?

(@) = On the average A earned more than B
during this period.

(b)  On the average B earned more than A
during this period.

(¢} The earnings of A and B were equal
during this period.

(d+  The earnings of A were less as
compared to B during this period.

B-AQN-O-KYB (28 -

53.

65.

A)

Two pipes A and B can independently fill a
tank completely in 20 and 30 minutes
respectively. If both the pipes are opened
simultaneously, how much time will they take
to fill the tank completely ?

{a)
{b)

10 minutes
12 minutes
{¢) 15 minutes

(d}

25 minutes

Each of the six different faces of a cube has
been coated with a different colourie, V, I, B,
G, Y and O. Following information is given :

1. Colours Y, O and B are on adjacent faces.
2. Colours I, G and Y are on adjacent faces.
3. Colours B, G and Y are on adjacent faces.

4. Colours O, V and B are on adjacent faces.

Which is the colour of the face opposite to the
face coloured with O ?

(a) B
by V
0 G
dy I

Consider the following statements followed by
two conclusions :

Statements : Some men are great.
Some men are wise.
Men are either great or wise.

Some men are neither great
nor wise,

Conclusion I :
Conclusion II ;

Which one of the following is correct ?
(a)
(b)

Only conclusion I is valid
Only conclusion IT is valid
(c)  Both the conclusions are valid

(d)  Neither of the conclusions is valid
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(b)
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56.

a7,

58.

Consider the following statements :

1. Some claim to have seen
{Unidentified Flying Objects).

2, ILife on other heavenly bodies is
considered to be a possibility.

3. Voyage to space is now an established
fact.

UFOs

From the above statements, it may be
concluded that

(a) UFOs are heavenly bodies

(b) UFOs are sent from other heavenly
bodies

(e) Some living species in other heavenly
bodies are more intelligent than man

{d) Nothing definite can be said about the
UFOs

If ABC x DEED =ABCABC; where A, B, C, D
and E are different digits, what are the values
of Dand E ?
(a) D=2,
(b)) D=0,
{¢) D=1,
d) D=1,

It

HEEHA
Hon
o O = O

Year-wise variation of the price of a certain
commodity is shown in the following graph :
10 el el

40F

bo [+ ]
o o
T T

Price in Rupees —»
—
=

0
1980

1990 2000
Years —»

2010

The price of the commodity in the year 1990
(a} must have been T 10/-

(b}  must have been T 12/-

(c) must have been anywhere between
T 10/- and ¥ 20/-

{d) is higher than that in the year 1991

59.

60.

The proportion of expenditure on various
items by two families A and B are represented
in the following Bar Charts :

10% Food

50%

Food 60%
Other
items

30%

Other
items
30%
20% Education
Education
Family A Family B

Total expenditure :
T 20,000 per month

Total expenditure :
< 1,00,000 per month

From these charts, we can conclude that

(a) Family A spent more money on food
than Family B.

(b) Family B spent more money on food
than Family A.

() Family A and Family B spent the same
amount on food.

(d) The expenditure on food by Family A
and Family B cannot be compared.

Usha runs faster than Kamala, Priti runs
slower than Swati, Swati runs slower than
Kamala. Who is the slowest runner ?

(a) Kamala
(b)  Priti

(e} Swati
(d) Usha

B-AQN-O-KYB
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56. fr=iefiga suEt w famm fifag . 59. aqﬁa’rﬁ,AaﬂtB,m%ﬁﬁnﬁmmm
1. P8 @ UFOs (A 3§ Taial) =4 1 39 Frefafea deafed (Sn @)
F L@ I FH B E | o f=fig frRrmn 2.
2. T G gl | SfEm foawE —
Ty e & | 10% g ward
3. ity I o7« U T e ¥ | 50%
IR FUA @, a8 Frad Feen 1 awar & T e s
fem ade£Y
(a) UFO @ehy fuve § s
(b) UFO 34 @il fivdi & it o & s T
(c) maﬂﬁaﬁu@:ﬁmﬁaﬁw@sﬂa 20% 30%
T Al gigne @ ﬁl?;f e
(d) UFO % =R ¥ %o i fifsm &1 8 & T A EP—
57 ﬂﬁA:WDE—ABCABC-GﬁABCD I T
' aﬂIEfﬁam%,aﬁnaﬁtE%mﬁ%?’ ¥ 20,000 ¥fa ATE T 1,00,000 9fF aT8
(a) D=2 E= ) :
® D=0, E=1 1 sfEl A, g9 98 P e g € 7
€ D=1, E=0 (a) THER A7 @ 97 Wel@r B it s
(d) D=1, E=2 s S e |

58, H few o smerE () # fedt fawiw weg
£ e o ¥ e (Sfaew) fRamn = (b) YER B @Wra ugrd s af@r A Fi s

2: st = e |
T %0 i (¢) UREN A 3 gf@r B 4 @@ yere W auH
e O : af = A |
3l | @ whew A ok RER B g @ va
(E 201 E o T T Y gort A R wwdl |
. 10} :
lo80 1990 2000 2010 60. IN, FHGT ¥ 47 qedt &; Mfy, w@fe @ ofm
¥ — Ash 2, @i, woen & oW Az & | @@
a¥ 1090 % a&g < Fma iy ¥ et B 2
(a) IFW T 10/- & Bl (@) HAT
(b) ITE T 12/- T Bt R b
() a;s;ﬂ T 10/- 3R T 20/- & &t @ o © @
(d) Igh ad 1991 i FHiaa ¥ fers B (@) 9
8-AQN-O-KYB (31-A)
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Directions for the following 7 (seven) items : | 62.
Read the following four passages and answer the
items that follow. Your answers to these items
should be based on the passages only.

In the light of the argument in the above
passage, which the
statements s convincing
explanation ?

ene of
the

following
most

{a) The Right of personal property is a
Natural Right duly supported by
statutes and scriptures,

Passage — 1

India has suffered from persistent high

inflation. Increase in administered prices, (b}  Personal property is a theft and an

demand and supply imbalances, imported instrument of explqitation. The Right_ of

inflation aggravated by rupee depreciation, and personal P r(_)per_ty is therefore violative
_ : ' ‘ of economic justice.

speculation — have combined to keep high

(e}  The Right of personal property is
violative of distributive justice and
negates the principle of cooperation,

inflation going. If there is an element common to
all of them, it is that many of them are the
reforms.
to the effects
international prices has increased with trade
liberalisation. The effort to reduce subsidies has

outcomes of  economic

India’s ()
of changes in

The comprehensive idea of economic
Jjustice demands that the Right of each
person to acquisition of property has to
be reconciled with that of others.

vulnerahility

resulted in a continuous increase in the prices of

commodities that are administered. Passage - 3

The conflict between man and State is as

61. What is the maost logical, rational and

crucial message that is implied in the above
passage ?

{a}  Under the present circumstances, India
should completely avoid all trade
liberalisation policies and all subsidies.

(b} Due to its peculiar socio-economic
situation, India is not yet ready for
trade liberalisation process.

()  There is no solution in sight for the
problems of continuing poverty and
inflation in India in the near future.

old as State history. Although attempts have
been made for centuries to bring about a proper
adjustment between the ecompeting claims of
State and the individual, the solution seems to
be still far off. This is primarily because of the
dynamic nature of human society where old
values and ideas constantly vield place to new
ones. It is obvious that if individuals are allowed
to have absolute freedom of speech and action,
the result would be chaos, ruin and anarchy.

(d) Economic reforms can often create a | 63. The author’s viewpoint can be best summed
high inflation economy. up in which of the following statements ?
Passage - 2 (a) The conflict between the claims of State
. P . . and individual ain resolved.
No Right is absoclute, exclusive or inviolable. me Heual Temains un )
The Right of personal property, similarly, has to (b)  Anarchy and Chags are _tlm obvious
. : . results of democratic traditions.
be perceived in the larger context of its assumed ( O1d val § d trad
" . e) values, ideas and traditions persist
legi t1macy.. The Bf'ig}_)t of Personal‘ property despite the dynamic nature of human
should unite the principle of liberty with that of society.
equahty,- and  both with the principle of {d} Constitutional guarantee of freedom of
cooperation. speech is not in the interest of society.
B-AQN-O-KYB (32-A)

32 www.jkchrome.com www.jkchrome.com

www.jkchrome.com




33 www.jkchrome.com

www.jkchrome.com

Referfera 7 (ara) weaen & e [ ;
At =y whedel & 93T ok 37% A9 IR
g1 yFmel & IR T 1 77 yee & awes IW
#9w 57 Tieeel W & e &7 e /
af=eg -1

WRa W 3= ERER ¥ uw @ R
Ffir i § 5f, 7i ik ofd 8 awigem, s
% AHTEH § WoR g TETa EEHifd, SR
A — 3 awa o 3= gEgehifa % s
e § | afe g ot § 9w ge 9 R, A a@@
7' & f5 ol @ % anfde gurdt & aftorm F
IS HiE] | qeed F IWE! 6 Jfd qRd H
ghoar  (GeRfEfadl) SR [HEW %
TYFY N TG B | ITGHT B FH FA F EEH
¥ IV 37 Fegel i P § P g me A
frdfira & |

61, g% wiesg # wafifea @ @ifd,

FHGTT 3 WETAqO HGw T8 ?

(a) wig wifeufe &, e & @ T@ d
s JefiFm $ At @ wft ueE
g F9A1 =R |

) e fafime el e +
FIEl, " afi ST Serieer i
gfsear & fore S wdi &

(¢) Trpe wirss § wrd o wam fefaar w
- gerehifa 6 wEenedt # Sg awgE T
fegan |

@ s gom W I pebfa el
STy IS H TF § |

afede - 2

+1% ft sifterr vm, s ot IreEE
R | o we, =fre wwfa F afver W
3Eh Hfcrd YU F FEW wH W @ I
wifge | =afva gt & AR o, Waad &
fagra =1 gua & fagra & am™, 3R T qH1 H
wgaw & fugrd & w9 gu=g g1 I1fgq |

B-AQN-O-KYB

62. 3% uhmer ¥ fu mu @k & nelw
frafafiad § 8 S99 h wyd I JE
fvaraug wredar 37
(a) =arEwTd TEfy 1 SfUeR, GfEfEn o
gyt g fafiee e, v et
srfireRm 2 |

(b) I wEfy TF I B qUl WET
JYRTT B | 3T, SARFT I 1 SRR
srfefer = o1 3e9EE R |

(¢) s weafe w1 sAftrer fame = &
IooEA & a9 ggEm + g = T
2|

) onfifes =@ w1 = foum gw ama H
w1 war & fe v safe & wrgid 3t
% fun ®1, gEd % WA 3 &
AR & Ty Sl g =y |

ufensg - 3
ueE UF T % mew Hud a1 € qUAT §
fr & vsa = sfoem | mfv el @ = @
=t  uiawd Zrat & o Temd s % @
g &, g wmum andt ot 51wl g R 1 TR
Tedd; gEfae ¥ Wit mEE AW A el
Tifersfier @ fored goe g ofit fmmd 3 fiem T
et of foamd o wom T 2 9w e B
Iz =t @ e ot w1 e f
wWaad 2 4 e, | 3geR o srereryT, faam
TS IR=Ehal § € Hehall B |
63. Frfafgs oo & & FHW ™, d@F H
ZfSERI FT HFTTH @RI TG HLT 8 2
(@) Tw 3 =afes F ozE $ =9 gy

(b)  SFTFEHAT 3 AT RIETUIEED

(d) am WA (HER % wN) R
w3 TN A o &g | w6 7

(33-A)
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Passage - 4 66. In this passage, the Convention puts the

Climate change is a complex policy issue responsibility for the provision of financial
with major implications in terms of finance. Al support on the developed countries because
actions to address climate change ultimately of
involve costs. Funding is vital for countries like 1. their higher level of per capita incomes.
India to design and implement adaptation and 2. their large quantum of GDP.
mitigatifm plans and projects. Lack of funding is 3. their large contribution to the stock of
a large impediment to implementing adaptation GHGs in the atmosphere.
plans. The sce?le and magmtud'e of the ﬁn‘a.nmal Select the correct answer using the code given
support required by developing countries to helow -
enhance their domestic mitigation and
adaptation actions are a matter of intense debate (@) Lonly
in the multilateral negotiations wunder the (b)  1and 2only
United Nations Framework Convention on (¢} 3only
Climate Change (UNFCCC).  The Convention (d) 1,2and3
squarely puts the responsibility for provision of
financial support on the developed countries,
taking into account their contribution to the | 66. ~With regards to developing countries, it can

stock of greenhouse gases (GHGs) in the
atmosphere. Given the magnitude of the task
and the funds required, domestic finances are

likely to faill short of the current and projected .

needs of the developing countries. Global funding
through the multilateral mechanism of the
Convention will enhance their domestic capacity
to finance the mitigation efforts.

be inferred from the passage that climate
change is likely to have implications on their

1.  domestic finances.
2. capacity for multilateral trade.

Select the correct answer using the code given
below :

{a) Ionly
(by 2 only

64. According to the passage, which of the
following is/are a matter ‘of intense debate in
the multilateral negotiations under UNFCCC
regarding the role of developing countries in
climate change ?

(¢} Bothland?2
(d) Neither 1 nor 2

67. Which one of the following is essentially
discussed in the passage ?
(a) Conflict between  developed and
developing countries regarding support
for mitigation

1. The scale and size of regquired financial
support.

b

The crop loss due to climate change in the
developing countries.

3. To enhance the mitigation and adaptation

. . . ) (b)  Oceurrence of climate change due to
actions in the developing countries.

excessive  exploitation of  natural

Select the correct answer using the code given resources by the developed countries

below : (¢)  Lack of political will on the part of all
(a) leonly the countries to implement adaptation
(b) 2 and 3 only plans

{c) 1and3only (d)  Governance problems of developing

(dy 1,2and3 countries as a result of climate change

B-AQN-O-KYB (34-A)

34 www.jkchrome.com www.jkchrome.com www.jkchrome.com




35 www.jkchrome.com

—

ufesg -4

erarg aRedd wh tm S it g9 2
St e 9t s g g § | Sierary aiEdd ¥
froes 9 w1 yE@ # o1 I W | WRS
A 2wl % o, agHen (IewN) aw e
() # Somel ok ufEiemrelt &
Afirpe iR s & o fdee (i)
Aeravas 8 | Al # oryra orger Aeet %
FElEE § T o9 997 # | JeEy wigeT ©
T T HAEEH FAYH (RS AW HHE
FOTF A FAEIE 99) (UNFCCC) & I=ifd
st il §, Remadie 3 g0 F W
=fiF qur SReH i b wadd % fog
e focfm wemen & Suen @ oo gee
= ¥ fawm ¥ ) @ ooem fosfa @ W,
srgree ¥ MErsE A6 (GHGs) % wwid § 39
A % omaw W, Bdm wgme w1 e s
& ow w9 @ e ser 8 | 9 %A A
aur Ia% fou BRAl ot srewERar Y 3E4 g,
frmmasfa 3wl 1 s aw g (TNEeE)
sragEEmaa % fou sl e fady gares S
Tgd i GWEE R | 3@ WEEW (Favd)
sgualy fenfefy & mem & e m dives
i, =l vl & famdeor % fog st
i &maT i gfg s |
64, 3@ URmDE F IgER, THEY WHEed H

fawrasfter 2l &1 qfirm & "ol # UNFCCC

& sala wgeef awtsll #, Frafaled @ @

FH-A/A, e 9=t W/ v 32 0

1. el foxfia Tgmar =1 Samm @ afemr |

2. fywasie 2wl § Swarg qiEds & RO
B Tt 395 Y B |

3. faprosiicr 3ot & =i dun THEA
FHHE T U BT |

Hi= fég Tu e 1 T R EE IW Y

{a) *Had 1

(b) e 2 3 3

(¢) “Faof 13T 3

(d) 1,2 3N 3

B-AQN-O-KYB
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65. 39 ufi=ne #, 18 oriey fawfia omi W Redm
TERA & WEYH FH b faeed) fme s
TG B 7
1. 3 wfa =ghe g &1 3= T |
9. 39! GDP ! s 7= |
3. 9gHed § fiFERE Wl (GHGs) % SmE

# 391 g8 A |
2 feu My e w1 T W E I GHT
(a) HaA 1
(b) whael 13 2
(¢) a3
@ 1,233

66. Towmsfier Wi & uww #, of=gg § W
FgAH Ferar s gt ® 6 ey wiada @
R

1. e | ® v gem gl 2

2. wguetd |NR A wHg W IS TS
gurfaa § |

Hr= T 7 he w1 T W FE IW T

(a) ad 1

(b) HIA2

() 19T 2gml

@ waLadz

67. 39 ui=ee 1§, fafafea 4 3 foo & @

srfrarT: faan st R man 2 2

(a) AR B TR <A & 9K H, faeihE
3R famasfia 2w & €= gg

) fowfim @ g wfes wEmEl &
HiGv™ g F HAV Iy qNEd
BT

(¢) OTYRTH ST I wETad T # aHt
e 6 Teiias geomE | Sl

(d) oy ufEda ¥ oofom *F &,
fererrasfior 2=t < v gaETd

(35—-A)
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68. Between 6 PM and 7 PM the minute hand of a | Directions for the following 2 (two) items :
clock will be ahead of the hour hand by | Reaq the following passage and answer the 2 (two)
3 minutes at items that follow :
( 6:15PM
2 A, B, C, D, E and F are cousins. No two cousins
(b 6:18PM are of the same age, but all have birthdays on
(¢) 6:36PM the same day of the same month. The youngest
(d) 6:48PM is 17 years old and the oldest E is 22 vears old. F
is somewhere between B and I) in age. A is older
69. There are 5 tasks and 5 persons. Task-1]| than B. C is older than D. A is one year older
cannot be assigned to either person-1. or | thanC,
person-2. Task-2 must be assigned to either
-3 -4. E is to b
per§on or person VETy person 15 o be 72.  Which one of the following is possible ?
assigned one task. In how many ways can the
assignment be done ? (a} D is 20 years old
{a) 6 {b) _ F1is 18 years old
(by 12 (e} Fis 19 years old
(e} 24 td) Fis 20 years old
{dy 144
73.  What is the number of logically possible
70. The monthly incomes of Peter and Paul are in orders of all six cousins in terms of increasing
the ratic of 4 : 3. Their expenses are in the age?
ratio of 3 : 2. If each saves ¥ 6,000 at the end @ 1
of the month, their monthly incomes
. . by 2
respectively are (in )
tal 24,000 and 18,000 (© 3
(b) 28,000 and 21,000 (d 4
{¢) 32,000 and 24,000
(d) 34,000 and 26,000 74. In a society it is customary for friends of the
same sex to hug and for friends of opposite sex
to shake hands when they meet. A group of
71. Two cities A and B are 360 km apart. A car friends met in a party and there were
goes from A to B with a speed of 40 km/hr and 24 handshakes.
returns to A with. a speed of 60 km/hr. What is Which one among the following numbers
the average speed of the car ? indicates the possible number of hugs ?
ta) 45 km/hr (a) 39
{b) 48 km/hr (b) 30
(c} 50 km/hr (@) 21
N
(d) 55 km/hr @ 20
B-AQN-O-KYB (36-A)
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68.

69.

70,

71,
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{d) Y& 6:48

5/ § 3 5 =fE § 1 w1, T @ =Re-1H
FYdl ATE-2 N T8 A S Foedt | FE-2, T
J cafie.a ® Y] SufE-4 B E oS
aIfET | g =AE ® uh wd o s ? | e
o w1 & foa 0w 2 7

{a) ©

by 12

(c) 24

d) 144

diex ot oie A miferER o 403 % eiguT
IR 3. 2P A A § (IR W@ F
3a § e =afh T 6,000 F Fd HET R, ql
6 wifee g (T o) shAw w4 § 2

(a) 24,000 37T 18,000
(by 28,000 afr{‘m.ooo
(©) 32,000 3R 24,000
(d) 34,000 3R 26,000

31 e, A3 B, TH.gR ¥ 360 km F1 T W
2| U% SN A¥ B TF 40 km/hr Y I H
It 2 3 60 ke/hr ! =61 A A TR ©ie ST
2 | ®R & HAed Td TR 7

(a) 45 km/hr
{b) 48 km/hr
{¢) 50 km/hr
(d> 55 km/hr

(37-A)

72.

73.

74.

Rferfae 2 (31) swen & forg R

2 () yearen & IR Fg

A B, C D E3RFax wE § | ®5% oft 1 =<1
s T € 3 % 72l &, e mft = wwmle
& e ok & alm w Ted ¥ | T B
ad H AR Aed S B, 2299 H e | F3H
AxgipafR D w21 A BY W H =&
2l e DA WHEIE | A CHUH N ST &

i A e s a e a2 2
(a) D,20a 4 &1 8
(b)y F, 1899 18
(¢} F,199¥ & &
(d) F,209% %1 3

ot w5 SR 9T N, qLA gE I h MR W,
FHET T § fora argedi § T@T EE 2 0

(a)
(b}
(c)
{d)

N

et gure 3 w2 faw R 7 e @ fom & T
fireTe g UG & T T W field €, 3
fagla fom % fim fiea =wg wwg@ @ Ty
firemet firerd 8 1 wep widl 1 fil % U g &
firem w24 91 gy fyen Mo |

frafafgs 8 & - v e, 7o A
(a) 39

(b) 30

fey 21

(d) 20
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75.

76.

917,

B-AQN-O-KYB

Two men, Anil and David, and two women,
Shabnam and Rekha are in a sales group.
Only two speak Tamil. The other two speak
Marathi. Only one man and one woman can
drive a car. Shabnam speaks Marathi. Anil
speaks Tamil. Both Rekha and David can
drive.

Which of the following statements is true ?

(a) Both the Tamil speakers can drive a
car.

(b)  Both the Marathi speakers can drive a
car.

(¢)  Both of those whe can drive a car speak
Marathi.

(d)  One of those who can drive a car speaks
Tamil.

In a plane, line X is perpendicular to line Y
and parallel to line Z; line U is perpendicular
to both lines V and W; line X is perpendicular
to line V,

Which one of the following statements is
correct ?

(a) Z,U and W are parallel.
(b) X, VandY are parallel.
(¢} Z,VandU are all perpendicular to W.
(d) Y,VandW are parallel.

A cow costs more than 4 goats but less than
5 goats. If a goat costs between T 600 and
T 800, which of the following is a most valid

conclusion ?
(a) A cow costs more than ¥ 2 500.
(b) A cow costs less than ¥ 3,600.

(e} A cow costs between ¥ 2,600 and
€ 3,800,

(d) A cow costs between ¥ 2,400 and
T 4,000.

78.

9.

80.

(38—A)

A society consists of only two types of people
— fighters and cowards. Two cowards are
always friends. A fighter and a coward are
always enemies. Fighters are indifferent to
one another. If A and B are enemies, C and D
are friends, E and F are indifferent to each
other, A and E are not enemies, while B and F
are enemies,

Which of the following statements is correct ?
(a) B, Cand F are cowards.

(b} A, E and F are fighters.

(c) B andE are in the same category.

(d) A and F are in different categories.

In a box of marbles, there are three less white
marbles than the red ones and five more
white marbles than the green ones. If there
are a total of 10 white marbles, how many
marbles are there in the box ?

(a) 26
(by 28
(0 32
{(d) 36

Candidates in a competitive examination
consisted of 60% men and 40%
70% men and 75% women cleared the
qualifying test and entered the final test
where 80% men and 70%
successful.

WOInern.

women were

Which of the following statements is correct ?
(a)  Success rate is higher for women.
{b}  Overall success rate is below 50%.

{c) More men cleared the examination than
womern.

(d) Both (a) and (b) above are correct.

—
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75, <1 v, afie 3 e, oiv g wfiemd, wem | 78,
3 YT, w fara wE % ¥ | FEw Q
Afreramdt § 1 o= < TS ¥ | T R SaEw
T qed 3fiT T wigen FR e g & | e
st § 1 otfe afremd 2 ) T ok e
2HI SR =el THd § |
freffgcd e s Fa T 8 7
(a) oAl afgevrdt Hn 5o ued § |
(b) a1 FUSHt I = TFA | |
(¢ 2 FR IAR I, FOEE § |
(d) HR AW Al 3 ¥ G, difem B |

76, U Suael #, W@ X, W@ Y ¥ e § | 79,
@ 2% g 3@ U, e v el @ wan
% IT{Ee §; W X, W@ VH 3 B |
frafafiga 1 § 91991 T F99 T 8 7
(a) Z, UM WaEaa § |
by X, vaRyaarsm g |
(¢} Z,V3RU,afi W a9 8 |
(d) Y,V 3 waaEa g |

B8O,

77. U A F HIHT 4 THIE H Ha 9 At B
ST 5 Sl i FHimw § F g | I
w0 Y higa T 600 3T T 800 % i B, A
frafafiaa § @ a1, gataw da vy § 0
(a) U T I HiHd T 2,500 9 eE B |
(b) TR M Kl H9d 36008 FH & |
(¢) T T h Himg T 2,600 3 T 3,800 %

Civ:A
(@) uH M HEG T 2,400 AN T 4,000 %
CICA
B-AQN-O-KYB (39-A)

T TE § FIE 21 THR % W gid § — 9rgr
3 FRR | B HE T e B B | T AN
3R U FRR FHW T B4 § | Agl Th-ga
Y @l ¥ 1Al A B g@A d, ¢ 3N
D 3ra &, E 3i F -G 8 3¢EH & E A
3fit E 5o 78 &, efF B 3R F gy &
frfafiaa § ] S0t e T 2 7

(a) B,C3RNFHE |

(b) A E3MFaZEI

(¢) BIRETHE@HEHAE |

() AR rim=ifeaid g

w wqg #, e mieat 3, e wiemt @ a1
w9 gikg Mol & s gt Mfee & of siftes
wipe Mt § | afg o 10 whg Miewl &, @t
o § e Fererdt Mt E 2

(a) 26

(by 28

(e} 32

@ 36

et wiemh wlisn § 60% q69 3 40% Aigen
wheareff & | 70% wew I 75% =fEen
yhEifEl 3 s whem § woa g aifem
wigo § wm & 5w sow gEw M 70%
Afgeid ahet W |
e o & w91 HuF 7618 2

(a) Tfgened ¥ HFod & IR 2 |
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. Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
( Series A and X ,‘ Subject GENE:IA;;:T[;:DIES
Maximum Marks 200 No. of items 80
No. of Items tq be taken for 79 K. of items dropped 1
scoring v i
1| Al D |31 |c 4] D] 61 ]op 76 | D
2| b7l c|2|o|lwa|6 el 77 | D
1B |1 B |33 8B |4 0le| sl B
flC 19l Al Aala]lc 6] o 79 | B
Sl Ccl20]| B3| Al Dle]| o 80 | C
6 | A2t A3 |Alst| x |6 ]| a
71 Al 2] bD | 37 C |52 | A|e67| A
8 | D] 25| A ]3] ¢ ea B |6 | c
S| Dj2a|. B3| C || c|e] o
0jAj25|Cl4|D|ss|b|70]a
M"|A|226|D|4|8|s|Dp]| 7|58
lAalafcla2|o]|st|c| 2|8
Blcl@28|B|la|c|ss|c|m]|s
| D j2|B|4|8B]|ss|c| C
w1 Bl3|cla|B|le]| B |70
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b Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series B and Y Subject GENi’:ﬁlés-l:LllelEs
Maximum Marks 200 No. of items 80
oL oF lterrsli;z:; Taken fer 79 No. of items dropped 1
&
1| bp|l16| D3| x |4 A |61 A ]| 7] A
2 | D17 | D |32 A|4a7| Aate2|lD]|77]| C
3| A1 B|33|B|4fD|63| A]|78]|C
alcl1o|B|laa]|cla]lole]|B]]cC
s | c|l2|c|3| bpls|aA]|e]| c|s]| D
6 | A|l21| B |3 | D |5 | A]|66]| D
7| Aal2]0b|wlc|s]|Aale]|cC
8 | Cc| 23|« {3 C|5|cCc|e68]|B
91 c|24| B3| c |5 |D]|6| B
10 A |25 B |4]|B|5|B|7]|cC
11| B |2|D |4 | A|s|D|71]|cC RO
12| B |27 | B |492|D]|s57|c|72]|D k
13 [ Bl 28| D |43 | B |58 | B | 73| B
M| Cc|l29|c |4 c|s9|A]|7a]|A
15| D |3 | D |4 | c|e| B]|75]| A

i
1
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P Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series C Subject GEN?,%‘EE{T%D'ES
Maximum Marks 200 No. of items 80
No. of ltems tq be taken for 79 No. of items dropped % 1
scoring

1 Al 16| A |31 | A4 | A |61 B 76 | D

> | o |17 c|32]| A4 | A 62| o | 77| C

s | A | 18| c|3]|c|4]C])® c | 78] C

4 |.B | 19| c | 3| D[4 |C 64 | B | 79| C

5 | c | 20| o |3 B |50} A 65 | B | 80| B |

s |l p | 21| Al3w|0D|5]B 66 | D

- | c | 22| o || c|®52)| 8B 67| B
5 | B |23|8B | %8 53 | B |68 | D

o | B | 24| c 30| A]|54]C 69 | C
0l cl2s| cla4a]|B ]| ]|D 70| D
1l cl2e| A4 |.D]|56}|D 71 | X e
21lpop 27| Al4a]|D|57|D 72| A
3 B | 28| D | 43| A 58 | B | 73| B
4| A | 20| D |4 C 59 | B | 74| C
51 A l30| A |4 |cle|C|7]PD
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; Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2045
4 Series D Subject GENE::[!’E;’T[I':DIES
Maximum Marks 200 No. of items 80
No. of lten;(s:;z:ge iakentor 79 No. of items dropped 1
1 B | 16| D |3 | B |4 | D |61 | A| 76| D N
2 D |17 ]| c | 32| B |47 | cCcle| D|77]|C
3 c|18] c |33 | B|4| B|63| B| 78| B
4 "B | 19| C |3 | C |4 | B |6s| C | 79| A
5 B |2 | B |3 {|DJ|s}|Cc|e | c | s8] B
6 D 21| D|3 | DJ|5s1t]| c|e66]| A
7| B |22 | D |3 | D|[52]|D]|67]|A
8 | DL 23| A |3 |B |5 |B|68| D |
9 C|24a|c 3| B |5 | A|[69] D
10| b | 25| c L4 | c|5s5]| A]|70]| A
M| X 26| A |74t | A|s6| A |71 [A s
12| Af27| A|42 | D]|s7T| c | 72| A
13 }.B [ 28| C | 43| A |58 ]| C|[73]|]C
14,0 C | 29| C | 4| B |5 | C| 74| D
%5 | D | 30| A |45 | c |60 | D | 75| B

43 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com



44 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

44 www.jkchrome.com

www.jkchrome.com

. Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
( Series A and X ,‘ Subject GENE:IA;;:T[;:DIES
Maximum Marks 200 No. of items 80
No. of Items tq be taken for 79 K. of items dropped 1
scoring v i
1| Al D |31 |c 4] D] 61 ]op 76 | D
2| b7l c|2|o|lwa|6 el 77 | D
1B |1 B |33 8B |4 0le| sl B
flC 19l Al Aala]lc 6] o 79 | B
Sl Ccl20]| B3| Al Dle]| o 80 | C
6 | A2t A3 |Alst| x |6 ]| a
71 Al 2] bD | 37 C |52 | A|e67| A
8 | D] 25| A ]3] ¢ ea B |6 | c
S| Dj2a|. B3| C || c|e] o
0jAj25|Cl4|D|ss|b|70]a
M"|A|226|D|4|8|s|Dp]| 7|58
lAalafcla2|o]|st|c| 2|8
Blcl@28|B|la|c|ss|c|m]|s
| D j2|B|4|8B]|ss|c| C
w1 Bl3|cla|B|le]| B |70
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b Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series B and Y Subject GENi‘:ﬁ‘ésrL‘j‘DlEs

Maximum Marks 200 No. of items 80

No. of lterrsli;(;:; taken for 79 No. of items dropped 1

&

1| p|l1w| D3| x|4] A|[61}A]776] A

2 | b1 | bD| 32| A|47| Aad62]| D] 77| C

3| A|18]| B |33| B|4fD|6|A|7B]|C

4|l cl19|B|3a|lcla]lole|B]| 9] C

5 | c|l2)|c |3 | bls|AaA|le]| c|s]| D
6 | A|21| B |3 | D|5s1t]| A|l®e6]| D
71 Aal22|0bp|3wlc|s]|Aals]|c
8 | c|28|«c |3 | C|53]| cC| 68| B
91 c|24a| B|3| Cc |5 D|69]| B
10| A | 25| B |4]| B |5|B|7]|C

11| B |26)D|4|A]|sw|D]|7M]|C i
12| Bl2t| B |42| D|st|c| 2] D k

13 | B+ 28 | D |4 | B |58 | B | 73| B
14| c|l20| c 4| c|s9| Af|7a]| A
5| D |30 | D |4 | c|e | B|75]| A

i
1
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P Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2015
Series C Subject GEN?,%‘EE{T%D'ES
Maximum Marks 200 No. of items 80
No. of ltems tq be taken for 79 No. of items dropped % 1
scoring

1 Al 16| A |31 | A4 | A |61 B 76 | D

> | o |17 c|32]| A4 | A 62| o | 77| C

s | A | 18| c|3]|c|4]C])® c | 78] C

4 |.B | 19| c | 3| D[4 |C 64 | B | 79| C

5 | c | 20| o |3 B |50} A 65 | B | 80| B |

s |l p | 21| Al3w|0D|5]B 66 | D

- | c | 22| o || c|®52)| 8B 67| B
5 | B |23|8B | %8 53 | B |68 | D

o | B | 24| c 30| A]|54]C 69 | C
0l cl2s| cla4a]|B ]| ]|D 70| D
1l cl2e| A4 |.D]|56}|D 71 | X e
21lpop 27| Al4a]|D|57|D 72| A
3 B | 28| D | 43| A 58 | B | 73| B
4| A | 20| D |4 C 59 | B | 74| C
51 A l30| A |4 |cle|C|7]PD

46 www.jkchrome.com

A e s o0

www.jkchrome.com

www.jkchrome.com



47 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

; Examination CIVIL SERVICES (PRELIMINARY) EXAM. 2045
4 Series D Subject GENE::[!’E;’T[I':DIES
Maximum Marks 200 No. of items 80
No. of lten;(s:;z:ge iakentor 79 No. of items dropped 1
1 B | 16| D |3 | B |4 | D |61 | A| 76| D N
2 D |17 ]| c | 32| B |47 | cCcle| D|77]|C
3 c|18] c |33 | B|4| B|63| B| 78| B
4 "B | 19| C |3 | C |4 | B |6s| C | 79| A
5 B |2 | B |3 {|DJ|s}|Cc|e | c | s8] B
6 D 21| D|3 | DJ|5s1t]| c|e66]| A
7| B |22 | D |3 | D|[52]|D]|67]|A
8 | DL 23| A |3 |B |5 |B|68| D |
9 C|24a|c 3| B |5 | A|[69] D
10| b | 25| c L4 | c|5s5]| A]|70]| A
M| X 26| A |74t | A|s6| A |71 [A s
12| Af27| A|42 | D]|s7T| c | 72| A
13 }.B [ 28| C | 43| A |58 ]| C|[73]|]C
14,0 C | 29| C | 4| B |5 | C| 74| D
%5 | D | 30| A |45 | c |60 | D | 75| B
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